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42, 54, 78, ?, 222, 414

1.124
2.106
3.116
4.126
5.122




Twelve men can complete a task in 16 days. Thirty-two women can complete the same
task in 12 days. Eight men and eight women together worked for 12 days, after which the
women dropped and 8 men joined. In how many days the men will be able to complete the
remaining task?

IRE YoV Teh i hl 16 TGl H QU P Febd &l TG AT SH &R 12 TGl # g

BT Fehcl &l 3T Go¥ 3R 376 A3t o T a1y 12 Al ded & fohan, Fas ag

AfCATT g 713 3R 8 TIW A & U] G2V AW B & fhcdel feal d qu o F Hain
?

1.3 days
2.9 days
3.10 days
4.2 days
5.NOT



9, 19, 40, 83, ?, 345, 696

1.162
2.170
3.175
4.166
5.NOT



Direction: Read the following information
carefully and answer the following questions

In a school consisting of 700 students, a sports
event is organized. There are a total of 4 sports
i.e Baseball, Cricket, Hockey and Basketball.
Each student participated in one sport. Ratio
between the number of boys and girls who
participated in Cricket is 11 : 13 and that of
Hockey is 15 : 13. The number of girls who
participated in baseball is 20 less than the
number of boys in baseball and the number of
boys who participated in cricket is 35 more
than the number of boys who participated in
Hockey. The ratio between the number of boys
and girls who participated in Basketball is 5 : 3.
The ratio of the number of girls and boys who
participated in baseball is 7 : 9 and the
difference between the number of boys and
girls who participated in cricket is 20.

e & Th Wo e fohar Srdr
Tl Pl 4 W § TN dgdie, fohahe,
gl 3R arEhediel| Ucdes o o

HAT ol aid oISl & F&a1 4




In a school consisting of 700 students, a
sports event is organized. There are a total
of 4 sports i.e Baseball, Cricket, Hockey
and Basketball. Each student participated
in one sport. Ratio between the number
of boys and girls who participated in
Cricket is 11 : 13 and that of Hockey is 15 :
13. The number of girls who participated
in baseball is 20 less than the number of
boys in baseball and the number of boys
who participated in cricket is 35 more than
the number of boys who participated in
Hockey. The ratio between the number of
boys and girls who participated in
Basketball is 5 : 3. The ratio of the number
of girls and boys who participated in
baseball is 7 : 9 and the difference
between the number of boys and girls
who participated in cricket is 20.




The number of boys who participated in baseball and cricket together is what percentage
of number of girls who participated in the same sports?

AT 3R Fshehe W Ueh AT WRT A AT TS eh! shl TEAT, THTT WAL H HHT AF Tt AigfehdT sht

TEIT T fehaT afasTa 22

. | 1.100%
Sports Number of Boys | Number of Girls
. 2.75%
Cricket 110 130
o)
Hockey 75 65 3.45%
0
Baseball 90 70 4.125%
Basketball 100 60 5.130%




The number of children(both boys and girls) who participated in Hockey is what
percentage less than the number of children who participated in Basketball?

Foh! H T & Tl o2l (AR AR ASTRAT 1) hi HEIT TrEhea el H 9RT & JTet ol
6t e | fera gfema w22

Sports Number of Boys | Number of Girls 1. 15%0

Cricket 110 130 2.12.5%
Hockey 75 65 RS WY
Baseball 90 70 4.6.25%
Basketball 100 60 5.33.33%




If 30% of boys and 20% of girls who participated in baseball were disqualified, then
the what is the ratio between the number of disqualified children and remaining

children?

i AT H WA & STt 30% TSR IR 20% ASTRAT hl AT S hT fEAT 74T 9T, 97 13

Teel hY AT 3 1T Sreel hl AT 3 o< T SATUTA T 82

Sports Number of Boys | Number of Girls
Cricket 110 130
Hockey 75 65
Baseball 90 70
Basketball 100 60

1.36:
2.22:
3.66:
4.41] :
5.41:

101
117
119
101
119



What is the difference between the average number of boys and average number of
girls participated in the event?

TH ATATAT T 9T T ATl TS ehl shi STTET AT 3T ISRl ehi STTAT HEAT oh 1T ekt 3T
FIT B2

. S | 1.12.5
Sports Number of Boys | Number of Girls
_ 2.8.25
Cricket 110 130
Hockey 75 65 3.9.5
Baseball 90 70 4.5.5
Basketball 100 60 5.15.5




What is the difference between the number of girls who participated in cricket and
hockey together and number of girls who participated in remaining sports?

foRohe ST ETeh! W Ueh TTY 9T &1 ATt ST [ehdl hl HEAT TR I WAl § WIT A qTeAt
TSTRAT hT TTEAT oh S hT A T 82

Sports Number of Boys Number of Girls | | 1.55

Cricket 110 130 2.45
Hockey 75 65 3.105
Baseball 90 70 4.65
Basketball 100 60 5.125




17, 35, 106, ?, 2126

1.378
2.590
3.312
4.425
5.531
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15,

27, 779 3039

?

1.1008
2.1678
3.798
4.1509
5.627




S,

12, 21,

32,

‘)

°9

60

1.40
2.36
3.45
4.54
5.NOT




In a vessel, the ratio of water to milk is 3 : 7. 25% of the mixture is taken out from a
total quantity of 200 liters and poured into another empty vessel, 10 liters of water is
also added to this vessel. Find the total quantity of water in the second vessel?

Teh 9, UTHT 3R 8 T SITUTA 3: 7 2 THSI0T 6T 25% WHT et 200 S hr A o
ﬁmﬁwaﬂi@?ﬁaﬁ?ﬁmm% TEFATH 10 e T it e AT 2 TER AT
ﬁuﬁaﬁwwmzﬁﬁﬁ

1.18 liters
2.20 liters
3.31 liters
4.28 liters
5.25 liters




If the ratio of the speed of the boat in downstream and speed of the streamis 8 ¢ 1
and the speed of the boat in still water is 28 km/hr. What would be the distance

travelled in upstream by boat in 8 hours?

AT ST 36 STTHET AT T ITHT I WY 6T T T HFATUATA § : 1 7 37 R ureit 7 Avay iy w1y
28 Toret/eieT 31 ATer gRT ey % Wfdehet 8 TS H A <hY TS T AT ERA?

1.182 km
2.192 km
3.172 km
4.CND
5.NOT




The price of wheat has increased by 25%. A has decided to spend only 10% more
than what he initially did on buying wheat. What is the percentage decrease in A's

wheat consumption?

g S R § 25% T If5 T3 8l A 771 Tig W IE H forg 77 Tt it qot1 # et 10%
HTereh Trel T ST THUTT ToTaT 81 A o 18 Rt Tud § Tfdvra oAt & T 82

1.14%
2.18%
3.22%
4.12%
5.15%



Direction: Study the following information carefully and answer the given questions.
The table shows the total number of invited person and the percentage of person who

attended the events (A, B, C, D, E) respectively.

fder: farafaf@a Seary &1 ¢ .
ShARM: MTHTIA IThal T PoT HEAT IR A3 (T, &Y, €, 21, §) FH HET o dTol bl

T CIAYID JETIA H AR AT 7T g4t & 3 | arforedr

T fderd feardr &l
Events Invited Person Pe:sl‘loenev\\:zr?ta(ti:\e;()kd
A 360 50%
B 240 60%
C 420 30%
D 120 759,
E 300 50%




What is the ratio of the number of persons who attended event B to the number of
persons who attended the event C?

HIAHA B H WHT oI STeT SATHAT hl AEAT HR RIRAHH C H AT I ATl SATRAT shl S&AT
hT ST AT ?

Events | Invited Person Person who attended
the event (in %)
A 360 50% 1.3:7
° 240 60% JERY:
- 420 80% 3.4:3
° 120 75% 4.4:7
E 300 50% 5.NOT




What is the average of number of persons who attended the events C, D and E?
HIEAHA C, D AR E H AT & STl SR chl HEAT kT 19T 94T 82

Events | Invited Person Pe';;oenev‘\’lz:ta(:tne;;led
A 360 50% 1.195
° 240 60% 2.194
‘ 420 80% 3.192
° 120 75% 4.198
E 300 50% 5.NOT




Find the percentage of persons who attended the event A is how much more than
the number of persons who attended the event D?

HTAHT A H HUT A ATA ST RAT kT ITA9Td AT ShI{STH, AV hTAshA D H WIT A STl A<kl
T EEHT & TehaeT s1feres 22

Events | Invited Person Person who attended
the event (in %)
A 360 50% 1.80%
° 240 60% 2.100%
: 420 80% 3.90%
° 120 75% 4.75%
E 300 50% 5.NOT




Find the difference between the number of persons who attended the events C and D
and the number of persons who attended the events B and E?

FHRHEA C TR D H HIT A ATA SATRAT ohl TEAT 3T HTIHA B 7R E H 9T A7 T
SARAT hl TEAT o S e T 3R AT hIRTA?

Person who attended

Events Invited Person the event (in %) -4 |
. — oo N 1.130
: = = 2.134
- 20 20% 3.136
X 170 — 4,132
E i oo 5.NOT




Find the ratio of number of persons who did not attend the event B to the total

number of persons who were invited for event D?

HIAHA B H AT T 1 STt sATRAT hl AT AR HTAHA D & Fo1u it safwat et

HEHT T ITTUTA AT <RI ?
Events | Invited Person Pe';;oenev‘\’lz:ta(:tne;;led
A 360 50%
B 240 60%
C 420 80%
D 120 75%,
E 300 50%

1.2:3
2.4:5
3.2:5
4.15:16
5.3:5



